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BC-11
June - Examination 2019
B. Com. Pt. Il Examination
Economic Policy and Rural Development
Paper - BC-11
Time : 3 Hours ] [ Max. Marks :- 70

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

fAder: g we ux ‘o7, ‘¥ 3R ‘@ fiH wuel 7 Ao d g1 ud®
Gus & MGATTAR el & IR S|

Section - A 7X2=14
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 2 marks.

Qus - ‘37’
(rfer o7 IR 9e)
fder: vl meal & IR FRITI AT 3707 IR Bl TRATAR Tb 9Teg,
U a1 AT AfeeheH 30 ereal H IRHAHT DRI Idiep ue
2 37l T ¢l
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1) (i) Give two characteristics of rural economy.

TreioT sreferawr & 2 IV FaEy|
(i) Define rural finance.

T o/ @t gy i)
(iif) What is swadeshi concept?

et foaR Rt @@ B2

(iv) What is import and export.
e fafd @ g2

(v) What is white revaluation.

IIdshife T g ?

(vi) Write two features of Panchayati Raj.

ORIt ST i 2 faAdn sargd|

(vii) What is Population control?
ST T R T 2 ?
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Section - B 4 X7=28
(Short Answer Questions)

Note: Answer any four questions. Each answer should not

exceed 200 words. Each question carries 7 marks.
Yus -
(oTg ITRIT UeA)

fAder: gl IR Ul & IR ST 3T 3 IR Dl 37feIhad

200 grect # R HfTTl Tdes 59T 7 3T ol ¢

Explain main objectives of Rural development.

I P o WX S5l Bl guie BIfsTg|

Discuss the importance of rural development.

I fIeprT & HEed b1 guie Hifou|

Explain the role of Public sector industries in India.

YRA H AreSep &3 &b N T YfHepT Dl faemT B |

Write the Justification of Liberalisation in India.

TR H ISR & 3T TR Up1er Siferd|

Why foreign trade is needed?

fReeft TR &Y eMasgdar Ft gt 8

Explain main characteristics of Indian population.

AR ST i J&T [Je9aratl &1 guf hif

Elucidate the advantage of WTO.
{9 IR FG & AT BT gui BT

Explain role of Panchayati Raj in development in Rajasthan.

ISR & fABRT § Gt T Y qfHT &1 guie HIRT|
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Section-C 2X14=28
(Long Answer Questions)
Note: Answer any two questions. You have to delimit your each
answer maximum up to 500 words. Each question carries
14 marks.

Qus - |
(e TR ¥ed)
fAder : el Q1 Uel & IR SRTI 3T 3o ITR B 3fErepead 500
gregl B gRAfT HITTI URd T 14 3t o7 &

10) What do you mean by Economic policy? Explain the objectives
of Economic policy.

3 3nfefer e @ a7 FusIa €2 anfefe fifr & S2eat o gufa
IR

11) Explain the significance of Agriculture in Indian economy.

AR 3fefegawr § $HY & HAged P1 gu Hifom|

12) What is meant by population policy. Write the main causes of
failure of population policy in India.
ST i T Aced g ? ARG H ST i 8 3rherdl
&b U PR A |

13) “Globalisation is a mixed boon”. Interpret this statment.

"deeitepRu Ueh M3 ARG & $9 U bl fddreT ity
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